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& =ViEeieel AXlE =T QHEAM|

O 200051 2/4%7] &RAbe7E dsEe AdE7|UH] 1.4% 5 7153i1em, Adaks
7h AsER AETIgn] 1.9% = Aol AerbgAe] v1E #Al
= e FHS AT Ao mE dyArbE A, sEew A, YRS
WG Tom Qo] & syl BrFESke] dlAtd.

<# 2> MR SR ® AR S7RRIE

(Th9] 1 1995==100, %)

1999. 2/4 2000. 1/4 2000. 2/4
Ay BT A 1172 1195 1194
 # B (-3.3) (2.1) (1.9)
2R BT 1185 120.1 120.2
s # B (0.6) (1.5) (1.4)

Hsl 34.299Ee] SA.

- 2By 1/43719] A7) AR 588l Hlstel= i JAdE.

<& 3> ZHIEA|

(9] - wnhee)

1999. 2/4 2000. 1/4 2000. 2/4

3% o+ A 6,145.4 1,666.5 2,729.0
o= o5 A 7,901.9 2,455.6 47476
AR A A -408.0 -832.2 -982.3
A 5 F A -1,784.2 -212.0 -1,089.7
Bl A A 435.7 205.1 53.3
A ®F A -610.6 8,486.8 4,241.0
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